2 Panel Teleskopik Kat Kapisi Montaj Klavuzu

2 Panels Telescopic Landing Door

KAPIDAKI
GUVENCENIZ Sayfa 1




KAPIDAKI
GUVENCENIz Sayfa 2




2 Panel Teleskopik Kat Kapisi Kasa Montaj Klavuzu

2 Panels Telescopic Landing Door Case Assembly

NO Resim/Picture Adi / Name Adet / Pcs. Kullanma Alani / Using Area Agiklama / Notes

2 Ad. Ust Konsol, 3ad. Alt Konsol montaiji.

4 M10 KONTRA SOMUN 5 2 Pcs. Upside Bracket,3 pcs. Underside Bracket assmbling.|
4 Ad. Alin, 5 ad. Sac Esik montaji.

8 M8X20 AKB CIVATA g 4 Pcs. For heaader, 5 pcs. Steel sill assembling.
4 Ad. Alin, 6 ad. Sac Esik montaji.

9 > / 16 PUL "] 4 Pcs. For heaader, 6 pcs. Steel sill assembling.
2 Ad. Kilit Saci, 2 ad. Alin montaiji.

12 M6 FLANSLI SOMUN 4 2 Pcs. For lock supplement, Header assembling.

19 4 2 Ad. Kilit Saci, 2 ad. Alin montaji.

M6X12 FLANSLI CIVATA 2 Pcs. For lock supplement, Header assembling.

1 Ad. Sac Esik montaji.

2[] M8X45 AKB CIVATA ] 2 Pcs. For Steel Sill assembling.

Z.I 2 Ad. Ust Konsol, 3 ad. Alt Konsol montaj.

M10X20 ZIPKA CIVATA 5 2 Pcs. Upside Bracket,3 pcs. Underside Bracket assmbling.|

2 Ad. Ust Konsol, 3 ad. Alt Konsol montaj.

22 3 / 8 PUL 5 2 Pcs. Upside Bracket,3 pcs. Underside Bracket assmbling.|
1 Ad. Sac Esik montaji.

23 25 MM BORU ] 1 Pc. For Steel Sill assembling.

i 4 Ad. Koridor Esigi montaji.

24 PLASTIK SEGMAN 4 4 Pcs. For Corridor Cover Sill assemling.
4 Ad. Koridor Esigi montaji.

25 KONSOL 5 4 Pcs. For Corridor Cover Sill assemling.

KAPIDAKI
GUVENCENIZ Sayfa 3



E S I 2 Panel Teleskopik Kat Kapisi Baglanti Seti
ELEVATOR 2 Panels Telescopic Landing Door Connection Set

Mekanizma ve Panel Baglanti Seti / Mechnism And Panel Assembly Kit

NO Resim/Picture Adi / Name Adet / Pcs. Kullanma Alani / Using Area Agiklama / Notes
: 4 ad. Panel montaji.
1 PANEL ASKI SETI 4 4 Pcs. For Panel assemling.
4 ad. Panel montaji, 2 ad. Aliiminyum esik montaiji.
Z MB8X16 AKB CIVATA 4 Pcs. For Panel assemling, 2 Pcs. Aluminium Sill assembling.
3 .. 8 4 ad. Panel Aski, 4 ad. Panel Paten montaji.
M8 DUZ RONDELA 4 Pcs. For Panel Hanger, 4 pcs. Panel Shoes assemling.
8 ad. Panel Aski montaji.
4 M10 KONTRA SOMUN 8 8 Pcs. For Panel Hanger assemling.
5 . 8 ad. Panel Aski montaji.
M10 DUZ RONDELA 8 8 Pcs. For Panel Hanger assemling.
4 ad. Panel montaji.
G PATEN 4 4 Pcs. For Panel assemling.
4 Ad. Paten montajl.
7 M8X10 AKB CIVATA 4 4 Pcs. For Shoes assemling.
4 ad. Mekanizma montaji.
8 M8X20 AKB CIVATA 4 4 Pcs. For mechanism assemling.
4 ad. Mekanizma montaji.
g > / 16 PUL 4 4 Pcs. For mechanism assemling.
2 ad. Aliminyum Esik montaiji.
10 M8 FLANSL' SOMUN 2 2 Pcs. Aluminium sill assembling.
2 ad. Etek Saci montaji.
1 1 M6X16 AKB CIVATA 2 2 Pcs. For Toe Guard assembling.
2 ad. Etek Saci montaiji.
12 M6 FLANSLI SOMUN 2 2 Pcs. For Toe Guard assembling.
1 ad. Yay montaji.
13 1,5MM HALAT 118 MEtrE 1 Pc. For Spring assembling.
1 ad. Yay montaji.
14 | commmmommmme | 45CM GEKME YAYI 1 L be. For Spring assembling.
Her tiirlii degisiklik hakkina sahiptir. AT Uygunluk beyani igin bizimle irtibata geginiz.
Subject to change without notice. KAPIDAKI Contact us for AT declaration of conformity.
GUVENCENIzZ

Sayfa 4



